ECON2013 Overseas assistance: week 8

Briefing: Country A
Country A is a low-income country in sub-Saharan Africa.  

Poverty is widespread, especially in the rural areas, where most of the population are resident.

Human capital is low – many people are poorly nourished, and literacy rates are low.  Health care provision has been neglected in the past, and life expectancy has been adversely affected by a high incidence rate of HIV/AIDS.

The country has poor transport and communication infrastructure, and limited natural resources.

Country A faces high levels of debt servicing, following inefficient use of past borrowing.

There has been some civil unrest, following tribal conflicts, and accusations of corruption amongst government officials.  In recent years, no government has been in power for more than a couple of years at a time.
Briefing: Country B:
Country B is a lower-middle-income country in Southeast Asia.

There is some poverty apparent in some areas of the country, but significant progress has been made in reducing its effects.

Human capital is reasonable – most people are well nourished, and literacy rates have risen in recent years, although there is still room for improvement.  Health care infrastructure is in reasonable shape, although medicinal drugs are in short supply.

Transport and communication infrastructure is weak, needing investment that will enable growth and development to take off.

Electricity supplies are unreliable, but there is potential for hydroelectric power to be developed.

Country B contains extensive natural resources (mainly minerals), but these are largely unexploited, as Country B lacks the technical knowledge to tap these resources.
The country’s debt position is under control, and servicing past debt has not been a major problem for Country B.  Monetary and fiscal policy has been carefully designed to create a stable macroeconomic environment, and the country has shown a willingness to be open to international trade.
The country has enjoyed a long period of political stability.  
Briefing: Country C

Country C is a high income country in Western Europe.

The country is an open economy, relying heavily on international trade, importing raw materials to supply its manufacturing sector.

In recent national elections, the incoming government included in its manifesto a commitment to increase the amount of overseas assistance to be donated.  There has been much criticism in the past that funds donated as part of overseas aid programmes have been squandered, so the new government has promised that it will monitor the effectiveness of any funds that it provides in order to report back to the country that these funds have had a significant effect.

How would you choose between Countries A and B as a potential recipient of aid?  How would you justify your decision to your electorate?

Briefing: World Bank

The World Bank is responsible for channelling flows of financial assistance to less-developed countries.  One motivation for this is to promote the Millennium Development Goals, which were agreed by the member countries of the UN in 2000.  This involves targets for a range of key indicators – including the alleviation of poverty, and the promotion of education, gender equality, improved health and preserving the environment.

The World Bank is accountable to the countries that provide the funds, including the USA.  It has come under criticism from a number of directions, and some of its own research has revealed that overseas assistance in the past has had limited effectiveness.  Some evidence suggests that such aid has more favourable effects where there is good governance – in particular, countries that have implemented World Bank-approved policies.

How would you choose between Countries A and B as a potential recipient of aid?  How would you justify your decision?

Briefing: a non-governmental organisation (NGO)

This NGO raises funds from charitable giving in high-income countries.  It appeals for funds by advertising that it will use whatever money it raises to combat poverty in poor countries.  In seeking to achieve this, it promises to minimise its administrative costs and oversee the projects that it finances.
In order to maintain the flow of fund raising, the NGO relies on showcasing projects that it has successfully completed from past giving, but it has no direct accountability to past donors, who tend to be a fragmented and diverse group of individuals.  It is vital for the NGO to build and maintain a credible reputation for good use of the funds.

How would you choose between Countries A and B as a potential recipient of aid?  

Structure of the session

The number of groups possible will depend upon how many students turn up for the session.  With relatively small numbers, just use the three countries, but where numbers allow, add in extra teams for either the World Bank or the NGO – or for both.

Countries A and B are the potential recipients of overseas aid.  After a period of discussion in groups, each potential recipient should make a presentation to the other groups, appealing for aid and highlighting the reasons why they should receive it.  These countries should not see the briefing documents provided to the other groups.  However, the rich country, World Bank and NGO should receive the documents relating to the two potential recipients – but not those for the other potential donors.
After the presentations from the two countries, the other groups should be given the opportunity to cross-question the two potential recipients.  Each of the donors should then announce to whom they will award the funds – they may need 5 minutes to discuss this before announcing their verdicts.

Timing could be tight, so be careful not to allow presentations or discussion to proceed for too long.
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